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Solved Problems

1. Find the equation of circle with centre

(1,4) and radius '5’


https://doubtnut.app.link/lkek2J5wfhb
https://doubtnut.app.link/MVcbJvrhfnb
https://doubtnut.app.link/MVcbJvrhfnb
https://dl.doubtnut.com/l/_mT9OcUCnENni

Answer: i.e.z’ + y2 —2x —8y—8=0

o Watch Video Solution

2. Find the centre and radius of the circle

z? 4+ y’ + 2 —4dy—4=0


https://dl.doubtnut.com/l/_mT9OcUCnENni
https://dl.doubtnut.com/l/_QoFymCW9N25s

Answer: = 3

o Watch Video Solution

3. Find the centre and radius of the circle

3z +3y —6x+4y—4=0


https://dl.doubtnut.com/l/_QoFymCW9N25s
https://dl.doubtnut.com/l/_IABuOqnpOAzp

Answer: = —
3

° Watch Video Solution

4. Find the equation of the ciracle whose

centre is ( — 1, 2) and which passes through

(5, 6)


https://dl.doubtnut.com/l/_IABuOqnpOAzp
https://dl.doubtnut.com/l/_grKvoJtm6zKF

Answer: z° + y* + 22 — 4y — 47 = 0

° Watch Video Solution

5. Find the equation of the circle passing
through (2, 3) and concentric with the

circle z° + y® + 8z + 12y + 15 = 0


https://dl.doubtnut.com/l/_grKvoJtm6zKF
https://dl.doubtnut.com/l/_VygM5FPrgnnV

Answer: 2% + ¢ 4+ 8z + 12y — 65 = 0

° Watch Video Solution

6. From the point A (0, 3) on the circle
2% + 4z + (y — 3)® = 0 a chord AB is drawn

and extended to a point M such that


https://dl.doubtnut.com/l/_VygM5FPrgnnV
https://dl.doubtnut.com/l/_LT9RqTi5OEnk

AM =2 AB. Find the equation of the locus

of M.

Answer: 22 + ¢> + 8z — 6y +9 =0

° Watch Video Solution



https://dl.doubtnut.com/l/_LT9RqTi5OEnk

7.1f the circle z° 4+ y% + ax + by — 12 = 0 has
the centre at (2, 3) then find a, b, and the

radius of the circle.

Answer: = 5

° Watch Video Solution



https://dl.doubtnut.com/l/_oP5sOQ1f5Tn8
https://dl.doubtnut.com/l/_F8nOwWdINcav

8.If the circle 22 + y2 — 4z + 6y + a = O has

radius 4 then find a.

Answer: = — 3

o Watch Video Solution



https://dl.doubtnut.com/l/_F8nOwWdINcav

9. Find the equation of the circle passing
through (4, 1), (6, 5) and having the centre

on the linedzr +y — 16 = 0.

Answer: 22 + y? — 6z — 8y + 15 = 0

° Watch Video Solution



https://dl.doubtnut.com/l/_b9xL2q4M8tNw
https://dl.doubtnut.com/l/_SWUb9tayPXiQ

10. Suppose a point (z1,y;) satisfies
z? + y® 4+ 29z + 2fy + ¢ = 0 then show that it
represents a circle whenever g, f and c

are real.

Answer: = (21 +¢)° + (y1 + f)° >0

° View Text Solution



https://dl.doubtnut.com/l/_SWUb9tayPXiQ

11. Find the equation of the circle whose

extremities of a diameter are (1, 2) and

(4,5)

Answer: z° + y° — bz — Ty +14 =0

° Watch Video Solution



https://dl.doubtnut.com/l/_SWUb9tayPXiQ
https://dl.doubtnut.com/l/_VlUDfRAFzsdd

12. Find the other end of the diameter of the
circle 2 + y* — 8z — 8y + 27 = 0 if one end

of it is (2, 3).

Answer: The other end of the diameter is 'B(6, 5)

° Watch Video Solution



https://dl.doubtnut.com/l/_VlUDfRAFzsdd
https://dl.doubtnut.com/l/_SRXvCUgZj1Ke

13. Find the equation of the circum - circle
of the traingle formed by the line
ar + by + ¢ = 0(abc # ) and the co-

ordinate axes.

Answer: ab(:c2 + yz) + (bx + ay) =0

° Watch Video Solution



https://dl.doubtnut.com/l/_RBe0ioMv0sOD

14. Find the equation of the circle which passes
through the vertices of the triangle
formedby Ly =z 4+y+1=10

Ly=3x+y+5=0and Ly =2z +y—5=0

Answer: i.e,z? + y° — 30z — 10y + 25 =0

| e |


https://dl.doubtnut.com/l/_RBe0ioMv0sOD
https://dl.doubtnut.com/l/_lncTsgfTY1Kv

| d Watch Video Solution

15. Find the centre of the circle passing

through the points (0, 0), (2, 0) and (0, 2).

Answer: Thus the center of the required circle is

(A

‘ 0 Watch Video Solution


https://dl.doubtnut.com/l/_lncTsgfTY1Kv
https://dl.doubtnut.com/l/_hkvstwbocl7j

16. Obtain the parametric equations of the

circlez® +y* =1

Answer:

o Watch Video Solution



https://dl.doubtnut.com/l/_hkvstwbocl7j
https://dl.doubtnut.com/l/_XsjIhAzOxPOe

17. Obtain the parametric equation of the
circle represented by

2+ y? +62+8 —96=0

Answer: 0 < 0 < 27

° Watch Video Solution



https://dl.doubtnut.com/l/_OOJCz6TO3vF0
https://dl.doubtnut.com/l/_tZBgfzi8PNdC

18. Locate the position of the point (2, 4) with
respect to the circle.

? +y? —4zx —6y+ 11 =0

° Watch Video Solution

19. Find the length of the tangent form

(1, 3) to the circle ? +y? — 2z +4y — 11 = 0.


https://dl.doubtnut.com/l/_tZBgfzi8PNdC
https://dl.doubtnut.com/l/_IQXbcSeLmC6b

Answer: = 3

O Watch Video Solution

20.If a point P is moving such that the length
of tangents drawn from P to

2’ +y* — 2 +4y—20=0 (D).
andz® + 9y — 2z — 8y +1=0 (2.
are in the ratio 2:1

Then show that the equation of the locus

of Pisz? +y?> — 2z — 12y +8 =0


https://dl.doubtnut.com/l/_IQXbcSeLmC6b
https://dl.doubtnut.com/l/_L0gEWOSR36Xx

Answer: 2%y? — 2z — 12y + 8 = 0

° Watch Video Solution

21.1f S = 2% + y* + 29z + 2fy + ¢ = O repre-
sents a circle then show that the straight

linelx + my+n =20


https://dl.doubtnut.com/l/_L0gEWOSR36Xx
https://dl.doubtnut.com/l/_dBDTTV4CtHJ6

(i) touches the circle S = 0 if

(gl + mf — n)2
(I2 + m?)

(¢ +f—¢ =

° View Text Solution

22.1f S = 2% + y* + 29 + 2fy + ¢ = O repre-
sents a circle then show that the straight
linele + my+n =20

(ii) meet the circle S = 0 in two points if

(gl + mf — n)2
@+ m?)

gz—l—fz—c>

° View Text Solution



https://dl.doubtnut.com/l/_dBDTTV4CtHJ6
https://dl.doubtnut.com/l/_6GGsKT8A9VSR
https://dl.doubtnut.com/l/_LBS8rue4oA88

23.1f S = 2% + y® + 29z + 2fy + ¢ = O repre-
sents a circle then show that the straight
linele + my+n =0

(iii) will not meet the circle if

(g1 + mf — n)®
@5 m?

G+fi-c<

° View Text Solution

24. Find the length of the chord intercepted
by the circle z* + y* 4+ 8z — 4y — 16 = O on

thelinedz —y+4 = 0.

° Watch Video Solution



https://dl.doubtnut.com/l/_LBS8rue4oA88
https://dl.doubtnut.com/l/_nn02qofmNwP0

25. Find the equation of tangents to z* + y°
—4x + 6y — 12 = 0 which are parallel to

z+2y—8=0.

° Watch Video Solution

26. Show that the circle S = z? + y* + 29z +
2fy + ¢ = 0 touches the
(i) X- axis if g2 = ¢

(i) Y - axis if f2 = c.

‘ O Watch Video Solution


https://dl.doubtnut.com/l/_nn02qofmNwP0
https://dl.doubtnut.com/l/_s8P4CzyipRUi
https://dl.doubtnut.com/l/_GXOKUSdrD860

27.Find the equation of the tangent to

el 4+y? —6r+4y—12=0 at (—1,1)

° Watch Video Solution

28. Find the equation of the tangent to
2’ +y? — 2z + 4y =0 at(3, — 1) Also find

the equation of tangent parallel to it.

o Watch Video Solution



https://dl.doubtnut.com/l/_GXOKUSdrD860
https://dl.doubtnut.com/l/_VRZNNKpz5Wle
https://dl.doubtnut.com/l/_7ChOZSm7KJMb
https://dl.doubtnut.com/l/_6mSh3cqpYFPG

29.1f 4x — 3y + 7 = O is a tangent ot the circle
repesented by 2’ + 9P — 6z +4y—12=0,

then find its point of contact.

° Watch Video Solution

30. Find the equations of circles which touch

2¢ — 3y + 1 = 0 at (1,1) and having radius V13

o Watch Video Solution



https://dl.doubtnut.com/l/_6mSh3cqpYFPG
https://dl.doubtnut.com/l/_16XoXeOZVgqx

31.Show that the line 52 + 12y —4 =0
touches the circle

z? +y’ —6x+4y+12=0

° Watch Video Solution

32. If the parametric values of two points

A and B lying on the circle
2?4+ 9y — 6z +4y—12=0

are 30° and 60° respectively,

then find the equation of the chord

joining Aand B



https://dl.doubtnut.com/l/_b703i24oJ5o3
https://dl.doubtnut.com/l/_mk5bscsseHVO

I 0 Watch Video Solution

33. Find the equation of the tangent at the
point 30° (parametric value of ) of the

circle is z2 + y? + 4z + 6y — 39 = 0.

° Watch Video Solution

34.Find the area of the triangle formed

by the tangent at P(x1, y;) to the circle
2 2 2 . :

x° + y° = a” with co-ordinate axes

where z1, y; # 0.


https://dl.doubtnut.com/l/_mk5bscsseHVO
https://dl.doubtnut.com/l/_UQFjP8mAFNhq
https://dl.doubtnut.com/l/_94Uj7qHSJAjv

o Watch Video Solution

35. Find the equation of the momal to the
circle 2 4+ y* — 4z — 6y + 11 = 0 at (3, 2).
Also find the other point where the

normal meets the circle.

° Watch Video Solution

36. Find the area of the triangle formed by

the normal at (3, — 4) to the circle


https://dl.doubtnut.com/l/_94Uj7qHSJAjv
https://dl.doubtnut.com/l/_RM8rCQhdXhs4
https://dl.doubtnut.com/l/_xYmpbT2TFY51

2’ +y* — 222z —4y+25 =0 with the

ordinate axes.

co-

o Watch Video Solution

37.Show that the linelez + my +n = 0is a
normal to the circle S = 0if and only if

gl+mf=n

o Watch Video Solution



https://dl.doubtnut.com/l/_xYmpbT2TFY51
https://dl.doubtnut.com/l/_8fMKra1fZXwf

38. Fing the condition that the tangents
drawn from the exterior point (g, f) to
S = z? + y? + 29z + 2fy + ¢ = 0 are perpen-

dicular to each other.

° Watch Video Solution

39. If 81, 05 are the angles of inclination of
tangents through a point P to the circle
z? 4+ y* = a? then find the locus of P when

cot 6; + cot 0, = k.

° Watch Video Solution



https://dl.doubtnut.com/l/_ybyjNozYuhV8
https://dl.doubtnut.com/l/_s2HMDOiPwGUO

40. Find the chord of contact of (2, 5) with
repect ot the circle

z? +y* —bx +4y—2=0.

° Watch Video Solution

41. If the chord of contact of a point P with
respect to the circle 2 "‘:3 = a” cut the

A
circle at A and B such that AOB = 90°

then show that P lies on the circle

22 + Y2242


https://dl.doubtnut.com/l/_s2HMDOiPwGUO
https://dl.doubtnut.com/l/_PfTUoodgq2O1
https://dl.doubtnut.com/l/_IJvWXoxlC5rx

° View Text Solution

42.Find the equation of the polar of (2, 3)
with respect to the circle

2>+ y? +6x+8 —96 =0

° Watch Video Solution

43.Find the pole of x + y + 2 = 0 with respect
to the circle

z? +y* — 4z + 6y — 12 = 0.

‘ ° Watch Video Solution


https://dl.doubtnut.com/l/_IJvWXoxlC5rx
https://dl.doubtnut.com/l/_94NpvUy7v8Gc
https://dl.doubtnut.com/l/_IFkBUavqQpAQ

44, Show that the poles of the tangents to
the circle z° 4+ y* = a® with respect

: 2 2 o 2
to the circle (x + a)” + y° = 2a° lie on

y? +4daz =0.

o Watch Video Solution

45. Show that (4, —2) and (3, —6) are
conjugate

with respect to the circle 2 + y* — 24 = 0.

| o Wiakll. \NNdaa CaAliiktiam


https://dl.doubtnut.com/l/_IFkBUavqQpAQ
https://dl.doubtnut.com/l/_CEzVU2IbP4KI
https://dl.doubtnut.com/l/_sDC9oVKbdoWU

~—_¥YYdi\ll VIUCU JVIULIVII

46.if (4, k) and (2, 3) are conjugate points
with respect to the circle z? + y* = 17

then find k.

° Watch Video Solution

47.Show thet the lines 22 + 3y + 11 = 0 and
2z — 2y — 1 = O are conjugate with respect

to the circle z® + y* + 4z + 6y +12 =0

° Watch Video Solution



https://dl.doubtnut.com/l/_sDC9oVKbdoWU
https://dl.doubtnut.com/l/_fXp0bmJylyEg
https://dl.doubtnut.com/l/_kRdmRyQTn20D

48. Show that the area of the triangle formed
by the two tangents through P(z1, y;) to
thecircle S = z? + 4> + 29z + 2fy +¢c = 0

and the chord of contact of P with respect

) "“(511)3/2 X )
to S = Ois where 7 is the radius
S11 + r2

of the circle.

° Watch Video Solution

49, Find the mid point of the chord

intercepted by


https://dl.doubtnut.com/l/_kRdmRyQTn20D
https://dl.doubtnut.com/l/_RpcfjqmTw86t
https://dl.doubtnut.com/l/_DjdlTmR3mk9F

4y’ 22— 10y+1=0 __ (1)

onthelinex —2y+ 7= —0. (2)

° Watch Video Solution

50. Find the locus of mid-points of the chorde of
z? + y* = a® from the points

lying on the line lx + my +n = 0.

o View Text Solution



https://dl.doubtnut.com/l/_DjdlTmR3mk9F
https://dl.doubtnut.com/l/_Ms02YqRnCXw7

51. Show that the four common tangents can
be drawn for the circles given by

2’ +y?— 14z +6y+33=0 __ (1)
andz® + 4> +30c —2y+1=0 (2
and find the internal and external centres

of similitude.

° Watch Video Solution

52. Prove that the circles ¢? 4 3?0 ~82 ~6y+21=0

andz? + y* — 2y — 15 = 0 have


https://dl.doubtnut.com/l/_IUTHcvz3hM9Y
https://dl.doubtnut.com/l/_9qIkyciMBoYD

exactly two common tangents. Also find

the point of intersection of those tangents.

° View Text Solution

53. Show that the circles

z? +y? — 4z — 6y — 12 = 0 and

z? + y* + 6z + 18y + 26 = 0 touch each
other. Also find the point of contact and

common tangent at this point of contact.

° Watch Video Solution



https://dl.doubtnut.com/l/_9qIkyciMBoYD
https://dl.doubtnut.com/l/_PX5ihxSfn9el
https://dl.doubtnut.com/l/_5mM9Cc8NAH8E

54.Show that the circles
z? +y*> — 4z — 6y — 12 = 0 and
5(:132 + y2) — 8¢ — 14y — 32 = 0 touch each

other and find their point of contact.

° Watch Video Solution

55. Find the equation of the pair of tangents

from (10, 4) to the circle z* + 3* = 25.

° Watch Video Solution



https://dl.doubtnut.com/l/_5mM9Cc8NAH8E
https://dl.doubtnut.com/l/_ubQEQFMUct0s

56. Find the equation ot all possible common
tangents of the circles

2?2 +y? — 2z —6y+6 =0and z® + y* = 1.

° View Text Solution

1. Find the equation of the circle with centre

C and redius r where.

C=(2 —3),r=14

‘ ° Watch Video Solution


https://dl.doubtnut.com/l/_BaQzWqsB3GFe
https://dl.doubtnut.com/l/_xSWNQhWonFqg

2. Find the equation of the circle with centre

C and redius r where.

C=(-1,2),r=5

° Watch Video Solution

3. Find the equation of the circle with centre

C and redius r where.

C=(a, —b),r=a+b

o Watch Video Solution



https://dl.doubtnut.com/l/_xSWNQhWonFqg
https://dl.doubtnut.com/l/_MDyMPu5kaf5y
https://dl.doubtnut.com/l/_61jnkn2NRaPk

4.Find the equation of the circle with centre

C and redius r where.

C=(-a, —b),r =+ —b(la] > [b])

° Watch Video Solution

5. Find the equation of the circle with centre
C and redius r where.

C = (cosa,sina),r =1

O Watch Video Solution



https://dl.doubtnut.com/l/_9Oij13G0rXrK
https://dl.doubtnut.com/l/_PnrQ2wwivVCf

6. Find the equation of the circle with centre

C and redius r where.

C=(-17 —-3),r=4

° Watch Video Solution

7.Find the equation of the circle with centre

C and redius r where.

= (g -9)r=s
- _57_ y 7' =

o Watch Video Solution



https://dl.doubtnut.com/l/_ydgU6knst3aY
https://dl.doubtnut.com/l/_hUT3bB4rTljE
https://dl.doubtnut.com/l/_6tjAtLoBEXi3

8. Find the equation of the circle with centre

C and redius r where.

5 4
c = (5’ —g),r—G

° Watch Video Solution

9. Find the equation of the circle with centre

C and redius r where.

s}
02(1,7),?": §

o Watch Video Solution



https://dl.doubtnut.com/l/_6tjAtLoBEXi3
https://dl.doubtnut.com/l/_zSGUrkIsPtBz

10. Find the equation of the circle with centre

C and redius r where.

C =(0,0),r=9

° Watch Video Solution

11. Find the equation of the circle passing
through the orgin and having the centre

at (-4,-3)

O Watch Video Solution



https://dl.doubtnut.com/l/_zepsJh1yHqS9
https://dl.doubtnut.com/l/_WmbobFpGlIYI

12. Find the equation of the circle passing

through (2, — 1) having the centre at (2, 3).

O Watch Video Solution

13. Find the equation of the circle passing the

through ( — 2, 3) centre at (0, 0).

° Watch Video Solution

14. Find the equation of the circle passing

through (3, 4) having and the centre at


https://dl.doubtnut.com/l/_prYWmxILYVg3
https://dl.doubtnut.com/l/_1sK2otOFJWnt
https://dl.doubtnut.com/l/_KqSYReHoYAib

(—3,4).

o Watch Video Solution

15. Find the value of 'a' if
222 + ay2 — 3z + 2y — 1 = O represents a

circle and also find its radius.

° Watch Video Solution

16. Find the values of a, b, if ax? + bxy + 3y? —

5 + 2y — 3 = O represents a circle. Also find


https://dl.doubtnut.com/l/_KqSYReHoYAib
https://dl.doubtnut.com/l/_TDjt9DkL5pPb
https://dl.doubtnut.com/l/_hcl8eeKGUf8g

the radius and center of the circle.

o Watch Video Solution

17.1f 2% + y* + 29z + 2fy — 12 = O represents
a circle with centre (2, 3), find g, fand its

radius.

° Watch Video Solution

18.1f 2% + y* + 2gx + 2fy = O represents a

circle with cerntre ( — 4, — 3) then find g, f


https://dl.doubtnut.com/l/_hcl8eeKGUf8g
https://dl.doubtnut.com/l/_tdAML3Ot4VaO
https://dl.doubtnut.com/l/_nMHep2ZkjTHo

and the radius of the circle.

o Watch Video Solution

19.0fz? +y°> —4dx +6y+c=0 represents a
circle with radius 6 then find the value

of c.

° Watch Video Solution

20. Find the centre and radius of each of the

circles whose equations are given below.


https://dl.doubtnut.com/l/_nMHep2ZkjTHo
https://dl.doubtnut.com/l/_SbHPlcdneftE
https://dl.doubtnut.com/l/_VrRFaoqwOZdT

MNa?+y? —4dz — 8y —41 =0

o Watch Video Solution

21. Find the centre and radius of each of the
circles whose equations are given below.

322 +3y  — 5z —6y+4=0

° Watch Video Solution

22. Find the centre and radius of each of the

circles whose equations are given below.


https://dl.doubtnut.com/l/_VrRFaoqwOZdT
https://dl.doubtnut.com/l/_kpYYdp9RJzZH
https://dl.doubtnut.com/l/_X5yFmnTzOy6W

3z +3y —6x—12y—1=0

Find the radius and centre of the circle.

° Watch Video Solution

23.Find the centre and radius of each of the
circles whose equations are given below.

z? +y* +6x+ 8y —96 =0

o Watch Video Solution



https://dl.doubtnut.com/l/_X5yFmnTzOy6W
https://dl.doubtnut.com/l/_ceuHtNqmOonR

24. Find the centre and radius of each of the
circles whose equations are given below.

202 + 2% — 4z +6y—3=0

° Watch Video Solution

25. Find the centre and radius of each of the
circles whose equations are given below.

222 + 2% — 3z +2y—1=0

° Watch Video Solution



https://dl.doubtnut.com/l/_Ijz1P9QtMrJz
https://dl.doubtnut.com/l/_KJuwNmbs65WA

26. Find the centre and radius of each of the

circles whose equations are given below.

v 1 —|—m2(ar:2 —|—y2) — 2cx — 2mcy = 0

° Watch Video Solution

27.Find the centre and radius of each of the
circles whose equations are given below.

2’ +y* +2azx — 2y + b2 =0

° Watch Video Solution



https://dl.doubtnut.com/l/_ZR88XOsay2UI
https://dl.doubtnut.com/l/_vFchfx0d5Ngk

28. Find the equations of the circles for which
the points given below are the end points

of a diameter.

(1,2), (4, 6)

° Watch Video Solution

29. Find the equations of the circles for which
the points given below are the end points

of a diameter.

(—4,3),(3, —4)

° Watch Video Solution



https://dl.doubtnut.com/l/_dqoXGgik0dB3
https://dl.doubtnut.com/l/_z47K2YKDFBY0

30. Find the equations of the circles for which
the points given below are the end points

of a diameter.

(1,2), (8, 6)

° Watch Video Solution

31. Find the equations of the circles for which
the points given below are the end points

of a diameter.

(4,2), (1, 5)


https://dl.doubtnut.com/l/_z47K2YKDFBY0
https://dl.doubtnut.com/l/_W3YD8usMAcjV
https://dl.doubtnut.com/l/_HcJhr8RmJR8a

o Watch Video Solution

32. Find the equations of the circles for which
the points given below are the end points

of a diameter.

(7, —3),(3,5)

° Watch Video Solution

33. Find the equations of the circles for which

the points given below are the end points


https://dl.doubtnut.com/l/_HcJhr8RmJR8a
https://dl.doubtnut.com/l/_o5hRMqgQ6mnP
https://dl.doubtnut.com/l/_bwTic4qiNdUW

of a diameter.

(1,1), (2, — 1)

° Watch Video Solution

34.Find the equations of the circles for which
the points given below are the end points

of a diameter.

(0,0),(2,7)

o Watch Video Solution



https://dl.doubtnut.com/l/_bwTic4qiNdUW
https://dl.doubtnut.com/l/_3VWMTuck1pmb

35. Find the equations of the circles for which
the points given below are the end points

of a diameter.

(3,1),(2,7)

° Watch Video Solution

36. Obtain the parametric equation of each
of the following circles.

w2_|_y2:4

° Watch Video Solution



https://dl.doubtnut.com/l/_f3wDf5uVQwuW
https://dl.doubtnut.com/l/_KMvLfjC1E1iW

37. Obtain the parametric equation of each

of the following circles.

4(:102 + y2) =9

° Watch Video Solution

38. Obtain the parametric equation of each

of the following circles.

222 + 2% =7

o Watch Video Solution



https://dl.doubtnut.com/l/_xISowpq9Gz53
https://dl.doubtnut.com/l/_eq6ZnKh28Bco

39. Obtain the parametric equation of each

of the following circles.

(z-3)°+(y—4)" =8

° Watch Video Solution

40. Obtain the parametric equation of each

of the following circles.

e’ +y’ —4dr —6y—12=0

o Watch Video Solution



https://dl.doubtnut.com/l/_DT1J3J2YgvSv
https://dl.doubtnut.com/l/_4GAof32Ab8hR

41. Obtain the parametric equation of each
of the following circles.

22 +y? —6zx+4y—12=0

° Watch Video Solution

42.If the abscissae of points A, B are the roots

of the equation, z®4 2az —b* =0 and
ordinates of A, B are roots of y2 + 2py — q2 =0,
then find the equation of a circle for which AB

is a diameter.

° Watch Video Solution



https://dl.doubtnut.com/l/_zkn2QzuW4RKj
https://dl.doubtnut.com/l/_as6OP5RFzcP4

43. Show that A(3, — 1) lies on the circle
2 "‘13 — 2z + 4y = 0. Also find the other

end of the diameter through A.

° Watch Video Solution

44, Show that A(—3,0) lies on
22 +y? + 82+ 12y+15=0 and find the
other end of

diameter thorugh A.

‘ o Watch Video Solution


https://dl.doubtnut.com/l/_as6OP5RFzcP4
https://dl.doubtnut.com/l/_7EIRbgtBYgaT
https://dl.doubtnut.com/l/_h3rx6awnTFyR

45, Find the equation of a circle which passes
through (2, — 3) and ( — 4, 5) and having

the centreon4x +3y+1=0

o Watch Video Solution

46. Find the equation of a circle which passes
through (4, 1)(6, 5) and having the centre

ondr +3y—24 =0

O Watch Video Solution



https://dl.doubtnut.com/l/_h3rx6awnTFyR
https://dl.doubtnut.com/l/_IPFWFJIfkVKr
https://dl.doubtnut.com/l/_x3XX3eQ38h4S

47.Find the equation of a circle which is
concentirc with 2% + y? — 6z — 4y — 12 = 0

and passing through ( — 2, 14).

° Watch Video Solution

48. Find the equation of the circle whose centre
lies on the X- axis and passing through ( — 2, 3)

and (4, 5)

o Watch Video Solution



https://dl.doubtnut.com/l/_VrpyEG7d4zA2
https://dl.doubtnut.com/l/_lqSdN9IfSlIH

49. If ABCD is a square then show that the

points A, B, C and D are concyclic.

° View Text Solution

50. Find the equation of circle passing
through each of the following three points.

(3,4), (3,2),(1,4)

° Watch Video Solution



https://dl.doubtnut.com/l/_2DPKgSdi96s2
https://dl.doubtnut.com/l/_On6s7XVY8zhe

51. Find the equation of circle passing

through each of the following three points.

(1,2), (3, —4), (5, —6)

° Watch Video Solution

52.Find the equation of circle passing
through each of the following three points.

(2,1),(5,5),(—6,7)

° Watch Video Solution



https://dl.doubtnut.com/l/_c93C5YqT7z03
https://dl.doubtnut.com/l/_7k0b7ZsLATeN

53. Find the equation of circle passing
through each of the following three points.

(5,7), (8, 1), (L, 3)

° Watch Video Solution

54.Find the equation of the circle passing
through (0, 0) and making intercepts

4, 3 on X- axis and Y - axis respectively

o Watch Video Solution



https://dl.doubtnut.com/l/_zu75uKmpN1Go
https://dl.doubtnut.com/l/_HDxTcNhzyhLh

55. Find the equation of the circle passing
through (0, 0) and Making intercept 4 units on

Y- axis.

° View Text Solution

56. Show that the following four points in
each jof the following are concyclic and
find the equation of the circle on which
they lie.

(171)7(_6a0)7(_272)7(_2_8)1

° Watch Video Solution



https://dl.doubtnut.com/l/_5bxVqq4qe5Vu
https://dl.doubtnut.com/l/_awLhnXEPTnMc

57. Show that the following four points in
each jof the following are concyclic and
find the equation of the circle on which
they lie.

(1,2), (3, —4), (5, — 6), (19, 8)

° Watch Video Solution

58. Show that the following four points in
each jof the following are concyclic and

find the equation of the circle on which


https://dl.doubtnut.com/l/_awLhnXEPTnMc
https://dl.doubtnut.com/l/_PamMG0PJx1TS
https://dl.doubtnut.com/l/_DAnkb9yNXCNa

they lie.

(1, —6),(5,2),(7,0),(—1, —4)

° Watch Video Solution

59. Show that the following four points in
each jof the following are concyclic and
find the equation of the circle on which
they lie.

(9,1),(7,9), ( — 2,12), (6, 10)

° View Text Solution



https://dl.doubtnut.com/l/_DAnkb9yNXCNa
https://dl.doubtnut.com/l/_lFvmpfN8b85g
https://dl.doubtnut.com/l/_kuegccvLS5C1

60.1f (2, 0), (0, 1), (4,5) and (0, c) are concy-

clic, and then find c.

o View Text Solution

61. Find the equation of the circum circle of
the triangle formed by the straight lines
given in each of the following:

2 +y=4,zxz+y=6,z+2y=>5

° View Text Solution



https://dl.doubtnut.com/l/_kuegccvLS5C1
https://dl.doubtnut.com/l/_ZKARMt7xNr9g

62. Find the equation of the circum circle of
the triangle formed by the straight lines
given in each of the following:
x—3y—1=0x+y+1=0,

2r +3y+4=20

o View Text Solution

63. Find the equation of the circum circle of
the triangle formed by the straight lines

given in each of the following:


https://dl.doubtnut.com/l/_qHeRypl5uZUW
https://dl.doubtnut.com/l/_9Xkk3YULLf6y

br —3y+4=0,2x +3y—5=0,

z+y=20

° View Text Solution

64. Find the equation of the circum circle of
the triangle formed by the straight lines
given in each of the following:
z—y—2=0,

2z —3y+4 =0,

3r —y+6=0

o View Text Solution



https://dl.doubtnut.com/l/_9Xkk3YULLf6y
https://dl.doubtnut.com/l/_TBSrxEpVeLEB

65. Show that the locus of the point of
intersection of the lines x cosa + Y sina
= a, xsina — ycosa = b(a is a para-

meter) is a circle.

° View Text Solution

66. Show that the locus of a point such that
the ratio of distance of it from two given

points is constant k( # =+ 1) is a circle.

° View Text Solution



https://dl.doubtnut.com/l/_lfRde7PhrJw2
https://dl.doubtnut.com/l/_sAmoknm4LqsT

1. Locate the position of the point P with
resect to the circle S = 0 when

P(3,4) and S=2* 4+ y* — 4z —6y—12=0

o Watch Video Solution

2. Locate the position of the point P with
resect to the circle § = 0 when

P(1,5) and S=2*+9y* —2z —4y+3 =0

o Watch Video Solution



https://dl.doubtnut.com/l/_Xq2WzZeO3H14
https://dl.doubtnut.com/l/_U5wU9osNW6uG

3. Locate the position of the point P with
resect to the circle S = 0 when

P(4,2) and S = 2z® +2y* — 5z —4y —3 =10

o Watch Video Solution

4. Locate the position of the point P with
resect to the circle § = 0 when

P2, —1) and S=z*+y* — 2z —4y+3=0

° Watch Video Solution



https://dl.doubtnut.com/l/_U5wU9osNW6uG
https://dl.doubtnut.com/l/_DCbEMSLFGfC4
https://dl.doubtnut.com/l/_PLa5SFf5pxjg
https://dl.doubtnut.com/l/_HY15iskT6T4U

5. Find the power of the point P with respect
to the circle S = 0 when

P=(5 —6), and S=z*+9y° + 8z + 12y + 15

o Watch Video Solution

6. Find the power of the point P with respect
to the circle S = 0 when

P=(—-1,1) and S = 2> + y* — 6z + 4y — 12

° Watch Video Solution



https://dl.doubtnut.com/l/_HY15iskT6T4U
https://dl.doubtnut.com/l/_BPMAavHNZ8QH

7.Find the power of the point P with respect
to the circle S = 0 when

P = (2,3) and SS=x"(2)+y"(2)-2x+8y-23=0'

° Watch Video Solution

8. Find the power of the point P with respect
to the circle § = 0 when

P=(—-2,4) and S =2 + y° + 4z — 6y — 12

O Watch Video Solution



https://dl.doubtnut.com/l/_NDISlfprcPOn
https://dl.doubtnut.com/l/_bFGFU1SiA0w6

9.Fing the length of tangent from P to the ltbr,

circle S = 0 when

P=(—-25) and S=2%+1y%—25

° Watch Video Solution

10. Fing the length of tangent from P to the ,
circle § = 0 when

P=(0,0),S=z*+y* — 14z + 2y + 25

o Watch Video Solution



https://dl.doubtnut.com/l/_z912vNwnRJn9
https://dl.doubtnut.com/l/_fQm9NidSrjxz

11. Fing the length of tangent from P to the Itbr,
circle S = 0 when

P=(2,5) and S=z* +y* — 5z +4y—5

° Watch Video Solution

12. If the length of the tangent from (5, 4) to

the circle % + y? + 2ky = Ois 1the n find k.

° Watch Video Solution



https://dl.doubtnut.com/l/_HEXCiUqxIehi
https://dl.doubtnut.com/l/_MsNDMAC0imZ1

13.If the length of the tangent from (2, 5) to
the circle z® + y* — bz + 4y + k = O'is

v/37 then find k.

° Watch Video Solution

14.If a point P is moving such that the lengths
of tangents drawn from P to the circles

z? +Y? -4z — 6y — 12 = 0and

z? 4+ y* + 6z + 18y + 26 = 0 are in the ratio
2: 3, then

find jthe equation of the locus of P.



https://dl.doubtnut.com/l/_Ur9iXbyLbmqb
https://dl.doubtnut.com/l/_uCc8O1W7orX6

I ° View Text Solution

15. If a point P is moving such that the lengths
of the tangents drawn form P to the circles

z? + y? + 8z + 12y + 15 = Oand

2’ +y? —dx — 6y — 12 = 0 are equal

then find the equation of the locus of P

o Watch Video Solution



https://dl.doubtnut.com/l/_uCc8O1W7orX6
https://dl.doubtnut.com/l/_4CbcGcWZCSXT

1. Find the equation of the tangent at P of the
circle § = 0 where P and S are given by

P=(7, —5),8S=2"4+4y* — 6z + 4y — 12

° Watch Video Solution

2. Find the equation of the tangent at P of the
circle S = O where P and S are given by

P=(-1,1),8= 2+ y(2) — 6z + 4y — 12

o Watch Video Solution



https://dl.doubtnut.com/l/_6erpABppsMWM
https://dl.doubtnut.com/l/_WoDkEinLebby

3. Find the equation of the tangent at P of the
circle § = 0 where P and S are given by

P=(—-6, —9)S=a?+9y*+4z+ 6y—39

° Watch Video Solution

4. Find the equation of the tangent at P of the
circle S = O where P and S are given by

P=(3,4),S=z*+9y*> — 4z — 6y + 11

° Watch Video Solution



https://dl.doubtnut.com/l/_NkqxFvAVT5kq
https://dl.doubtnut.com/l/_tSc5RXzpXLns

5. Find the equation of the normal at P of the
circle § = 0 where P and S are given by

P=(3 —4),S=2>+y*+z+y—24

° Watch Video Solution

6. Find the equation of the normal at P of the
circle S = 0 where P and S are given by

P=(3,5),S=z*+y>— 10z —2y+ 6

o Watch Video Solution



https://dl.doubtnut.com/l/_GFsruTY7kHeR
https://dl.doubtnut.com/l/_NfS5JFc4bL6j

7.Find the equation of the normal at P of the
circle § = 0 where P and S are given by

P=(1,3),5=3(z"+y°) — 192 — 29y + 76

° Watch Video Solution

8. Find the equation of the normal at P of the
circle S = O where P and S are given by

P=(1,2),S=z*+y*— 222 —4y+ 25

° Watch Video Solution



https://dl.doubtnut.com/l/_OwvVQar3oQqF
https://dl.doubtnut.com/l/_qhbACSlWqfrc

9.Find the length of the chord intercepted
by the circle z* + 4> — 2 + 3y — 22 = O on

theliney=a — 3

° Watch Video Solution

10. Find the length of the chord intercepted
by the circle z? 4+ y*> — 8z — 2y — 8 = O on the

linex +y+1=0

o Watch Video Solution



https://dl.doubtnut.com/l/_Jqa2gXuQEZau
https://dl.doubtnut.com/l/_fU9sgN2Chky0

11. Fins the length of the cord formed by

2

z? 4+ y* = a® on the line

T cosa + ysina = p.

° Watch Video Solution

12. Find the equation of circle with centre

(2, 3) and touching the line3z — 4y +1 =0

° Watch Video Solution



https://dl.doubtnut.com/l/_KySoCufnvjlS
https://dl.doubtnut.com/l/_vvFNTUd29Oxo

13. Find the equation of the circle with centre

( — 3, 4) and touching y — axis.

° Watch Video Solution

14. Find the equation of tangents of the circle
z? + y? — 8z — 2y + 12 = 0 at the points

whose ordinates are 1.

° Watch Video Solution



https://dl.doubtnut.com/l/_sTeBItqVasZB
https://dl.doubtnut.com/l/_04pPfQ07eyeq

15. Find the equation of tangents of the circle
z? + y? — 10 = 0 at the points whose

abscissae are 1.

° Watch Video Solution

16. If 22+ 3% = ¢ and z + % = 1 intersect
a

at

A and B, the find AB . Hence deduce the

condition, the line touches the circle.

° View Text Solution



https://dl.doubtnut.com/l/_Sw63hx1xWWZm
https://dl.doubtnut.com/l/_Tla83gWPqRzg

17. The lilne y=mxz 4+ x and the «circle
z? 4+ y* = a® intersect at A and B. If AB = 2),

then show that: ¢? = (1 + m2) (a2 — )\2).

° Watch Video Solution

18. Find the equation of the circle with centre
( — 2, 3) cutting a chord length 2 units

ondz +4y+4=0

o Watch Video Solution



https://dl.doubtnut.com/l/_kX2IxHbAaUPD
https://dl.doubtnut.com/l/_zXDDzBSt87cJ

19. Find the equation of tangent and normal at

(3,2) of thecirclez® + y* —z — 3y — 4 = 0.

° Watch Video Solution

20. Find the equation of the tangent and
normal at (1,1) to the  circle

222 + 2% — 22 — 5y +3 =0

o Watch Video Solution



https://dl.doubtnut.com/l/_xaAWtWR51Fss
https://dl.doubtnut.com/l/_FDze3R288Gur

21. Prove that the tangent at (3, — 2) of the
circle z? + y? = 13 touches the circle
z? + y* + 2z — 10y — 26 = 0 and find its

point of contact.

° Watch Video Solution

22.Show that the tangent at ( — 1, 2) of the
circez? +y* —4z — 8y + 7 =0

touches

the circle % + y? + 4z + 6y = 0 and also

find its point of contact.



https://dl.doubtnut.com/l/_bcPVQI7dTLgD
https://dl.doubtnut.com/l/_g7YBdCZFtDGS

I o Watch Video Solution

23. find the equation of the tajngents ot the
circle z° + y* — 4z + 6y — 12 = 0 which are

paralleltoz +y—8 =10

° Watch Video Solution

24. Find the equations of the tangent of the
circe 2+ vy*+ 2z —2y—3 =0 which are

perpendicularto 3z —y+4 =0

‘ O Watch Video Solution


https://dl.doubtnut.com/l/_g7YBdCZFtDGS
https://dl.doubtnut.com/l/_BMfsAgAw7r4W
https://dl.doubtnut.com/l/_3ne9ph6aDVBY

25. Find the equation of the tangents to the
circle % + y* — 4z — 6y + 3 = 0 which

makes an angle 45° with X - axis.

o Watch Video Solution

26. Find the equation of the circle passing
through ( — 1, 0) and touchingz +y —7 =10

at (3, 4)

o Watch Video Solution



https://dl.doubtnut.com/l/_3ne9ph6aDVBY
https://dl.doubtnut.com/l/_ElOPue09d6CB
https://dl.doubtnut.com/l/_M4yVrSqFIhT0

27.Find the equations of the circles passing
through ( — 1, 1) touching the lines

4z +3y+5—0and 3z — 4y — 10 =0

° View Text Solution

28. Show that x + y + 1 = 0 touches the circle
z? +y*> — 3z + Ty + 14 = 0 and find its

point of contact.

O Watch Video Solution



https://dl.doubtnut.com/l/_RnlUNY48N4wb
https://dl.doubtnut.com/l/_8JQIXyqPjtn3

1. Find the condition that the tangents
drawn from (0, 0) to
S=z>+y*+ 2 +2fy+c=0 be

perpendicular to each It brgt other.

o Watch Video Solution

2.Find the chord of contact of (0, 5) with
respect to the circle

w2—|—y2—5w—|—4y—2:0



https://dl.doubtnut.com/l/_Y4AmWhd6As1U
https://dl.doubtnut.com/l/_CfKy3uD0cbrs

| @ Watch Video Solution

3.Find the chord of contact of (1, 1) to the

circle z? + y? = 9.

° Watch Video Solution

4.Find the polar of (1, 2) with respect to

2’ +y =17

° Watch Video Solution



https://dl.doubtnut.com/l/_CfKy3uD0cbrs
https://dl.doubtnut.com/l/_TvUBzosLYjGE
https://dl.doubtnut.com/l/_uPLTZOYySweh

5.Find the polar of (3, — 1) with respect to

2% + 2% =11

° Watch Video Solution

6. Find the polar of (1, — 2) with respect of

2?2+ 9> — 10z — 10y + 25 = 0

° Watch Video Solution

7.Find the pole of ax + by + ¢ = 0(c # 0)

with respect to z* + y* = r?


https://dl.doubtnut.com/l/_R1ulSp4jAcL1
https://dl.doubtnut.com/l/_vN2w8HqdKOK6
https://dl.doubtnut.com/l/_DcerTT8AtYR1

° Watch Video Solution

8.Find the pole of 3z 4 4y — 045 = 0 with

respect toz® + y*> — 628y + 5 = 0

o Watch Video Solution

9.Find the pole of x — 2y 4+ 22 = 0 with respect

tox? +y? — bz +8y+6=0

o Watch Video Solution



https://dl.doubtnut.com/l/_DcerTT8AtYR1
https://dl.doubtnut.com/l/_sAHIIcvXGY3p
https://dl.doubtnut.com/l/_KU3EbKs64fhW
https://dl.doubtnut.com/l/_Z7YBJO4FHMQl

10. Show that the points ( — 6, 1) and (2, 3)
are conjugate points with respect ot the

circle

o View Text Solution

11. Show that the points (4, 2)(3, — 5) are
conjugate points with respect to the circle

22 +y* -3z —5y+1=0

° Watch Video Solution



https://dl.doubtnut.com/l/_Z7YBJO4FHMQl
https://dl.doubtnut.com/l/_49oT38d3KDIl

12. Find the value of k if kz + 3y — 1 = 0,
2z + y + 5 = 0 are conjugate lines with
respect to the circle

2’ +y* -2z —4dy—4=0.

o Watch Video Solution

13.Find the value of kifz +y — 5 =10
2z + ky — 8 = 0 are conjugate with respect

to thecirclez® + 9> — 22z — 2y — 1 =0

° Watch Video Solution



https://dl.doubtnut.com/l/_jeDsnnHWxEe7
https://dl.doubtnut.com/l/_yNipOFvhF4Sm

14. Find the value of k if the points (1, 3) and
(2, k) are coujuate with respect to the

circle z? + y? = 35.

° Watch Video Solution

15. Find the value of k if the points (4,2) and (k-3)
are conjugate points with respect to the circle

2> +y* — 5z +8y+6 =0

o Watch Video Solution



https://dl.doubtnut.com/l/_lhPVRY0mHgaB
https://dl.doubtnut.com/l/_5GPqCXrnMNYf

16. Find the angle between the tangents
drawn from (3, 2) to the circle

2+ 9y’ —6x +4y—2=0

° Watch Video Solution

17.Find the angle between the pair of
tangents drawn from (1, 3) to the circle

z? 4y -2z +4y—11=0

o Watch Video Solution



https://dl.doubtnut.com/l/_Zutf7RoEX92n
https://dl.doubtnut.com/l/_txQAPCV1ojIA

18. Find the angle between the pair of
tangents drawn from (0, 0) to the circle

z? + y? — 14z + 2y + 25 = 0.

° Watch Video Solution

19. Show that the locus of P where the tangents

2

drawn from P to the circle 2 + y* = a? include

: a
an angle ais 2 + y* = a®cos ec* —

2

° Watch Video Solution



https://dl.doubtnut.com/l/_WbV7VoBeLrtH
https://dl.doubtnut.com/l/_NrRG4Iiw69ms

20. Find the locus of P if the tangents drawn

2

from Pto 2 + y* = a” are perpendicular

to each othe.

° Watch Video Solution

21. Find the slope of the polar of (1, 3) with
respect to the circle 2?4+ y’ —dr —4dy—4=0
Also find the distance from the centre to

it.

° Watch Video Solution



https://dl.doubtnut.com/l/_GnZJEgn3HP4O
https://dl.doubtnut.com/l/_hKGs3I8q7VFT

22.1f ax 4+ by + ¢ = 0 is the polar of (1, 1) with
respect to the circle % + y? — 2z + 2y
+1 =0and H.C.F.of a, b, ciis equal to

one then find a®> + b% + .

° Watch Video Solution

23. Find the coordinates of the point of in-
tersection of tangents at the points where
x + 4y — 14 = 0 meets the circle

2 +y? -2z +2y—5=0

° View Text Solution



https://dl.doubtnut.com/l/_jsHGtT478V4d
https://dl.doubtnut.com/l/_4hBLDscYoAg3

24. (prove that) If the polar of the points on the
circle

z? + y* = a® with respect to the circle

z? 4+ y% = b? touches the circle 22 + y? = ¢?

then prove that a, b, ¢, are in Geometrical

progression.

° Watch Video Solution

25. Tangents are drawn to the «circle

w2+y2:16


https://dl.doubtnut.com/l/_4hBLDscYoAg3
https://dl.doubtnut.com/l/_sLQfBat0ZzU3
https://dl.doubtnut.com/l/_21vWyz4R5sdf

from the point P(3, 5) . Find the area
of the triangle formend by these tangents

and the chord of contact of P.

° Watch Video Solution

26. Find the locus of the point whpse polars
with respect to the circles z? + y* — 4z —

dy—8=0and z°+9y* -2z +6y—2=0

° View Text Solution



https://dl.doubtnut.com/l/_21vWyz4R5sdf
https://dl.doubtnut.com/l/_AY22V8NPVLph

27.Find the locus of the foot of the perpen-
dircular drawn from the origin to any

chord of the circle S = z? + y* + 2gz + 2fy
+ ¢ = 0 which subtends a right angle at

the origin.

O View Text Solution

1. Discuss the relative position of the fol-

lowing pair of circles.


https://dl.doubtnut.com/l/_CPPyXUnNjyxW
https://dl.doubtnut.com/l/_9vCtZETUV4KB

e’ +y* —4dr —6y—12=0

z? + y? + 62 + 18y + 26 = 0.

o Watch Video Solution

2. Discuss the relative position of the fol-
lowing pair of circles.
2’ +y* +6x+6y+14=0

e’ +y* — 2z —4dy—4 = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_9vCtZETUV4KB
https://dl.doubtnut.com/l/_hiscyh84KoBB

3. Discuss the relative position of the fol-

lowing pair of circles.

-2+ (@y+1)*=9(z+1)*+(y—3)* =4

° Watch Video Solution

4. Discuss the relative position of the fol-
lowing pair of circles.

2 2 _
'ty —2xr+4y—4=0

22y +4z —6y—3=0

° Watch Video Solution



https://dl.doubtnut.com/l/_1TGOXwDurME3
https://dl.doubtnut.com/l/_Z0w7c2K41N8P

5. Find the number of possible common
tangents that exist for the following pairs
of circles.

2 +y*+6x+6y+14=0

2? +y(2) —2x — 4y —4=0

o Watch Video Solution

6. Find the number of possible common
tangents that exist for the following pairs

of circles.


https://dl.doubtnut.com/l/_GCPWrz991zqw
https://dl.doubtnut.com/l/_p35B2eUN0JTn

e’ +y* —4dx —2y+1=0,

22 +y? —6x —4dy+4=0

° Watch Video Solution

7.Find the number of possible common
tangents that exist for the following pairs
of circles.

z?+ vy —de+2y—4=0,

> +y*+2c —6y+6=0

° Watch Video Solution



https://dl.doubtnut.com/l/_p35B2eUN0JTn
https://dl.doubtnut.com/l/_qGE7Fh03NaKW
https://dl.doubtnut.com/l/_BRiI4YqWLlev

8. Find the number of possible common
tangents that exist for the following pairs
of circles.

ey’ =4,2° +y* — 6z -8y +16=0

° Watch Video Solution

9. Find the number of possible common
tangents that exist for the following pairs
of circles.

' +y’+4z —6y—3=0

z? 4+ y* + 4z — 2y +4 = 0.

| o Wiakll. \NNdaa CAliikiam


https://dl.doubtnut.com/l/_BRiI4YqWLlev
https://dl.doubtnut.com/l/_KO0Z5tbJJFuq

——_ _¥YV¥Ydi\ll VIUCUV JVIULIVII

10. Find the internal centre of similitude
for the circles z° +y* 4+ 6z — 2y +1 =10

andz? +y?> — 2z —6y+9=0.

o Watch Video Solution

11. Find the external centre of similitude for
the circles z° + y* — 22z — 6y +9 =0

and 22 + y% =4

° Watch Video Solution



https://dl.doubtnut.com/l/_KO0Z5tbJJFuq
https://dl.doubtnut.com/l/_78Y796je6obV
https://dl.doubtnut.com/l/_gR7habugY9B5

12. Show that the circle

:132+y2) —6x —2y+1=0,

z? 4+ y* + 2z — 8y + 13 = 0 touch each
other. Find the point of contact and the
equation of common tangent at their

point of contact.

o Watch Video Solution

13. Show thet

2+ 9% — 6z — 9y + 13 =0, 2% + ¢


https://dl.doubtnut.com/l/_gR7habugY9B5
https://dl.doubtnut.com/l/_UakjzqbfShLL
https://dl.doubtnut.com/l/_JmHrg6GOMwjR

— 2z — 16y = 0 touch each other. Find the
point of contact and the equation of

common tangent at their point of contact.

o View Text Solution

14. Find the equation of the circle which
touches the circle 2 + y* — 2z — 4y — 20 =0

externally at (5, 5) with radius 5.

© Watch video solution



https://dl.doubtnut.com/l/_JmHrg6GOMwjR
https://dl.doubtnut.com/l/_9sYtHbvPqGnf

15. Find the direct common tangents of the
circles.
z? + y* + 222 — 4y — 100 = 0 and

z? + y* — 22z + 4y + 100 = 0.

o Watch Video Solution

16. Find the transverse common tangents of
the circles z? 4+ y*> — 4z — 10y + 28 = 0 and
z? + Y

+4r — 6y +4 = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_B44mgNkc4WDQ
https://dl.doubtnut.com/l/_yt7jQuSc1luA

17. Find the pair of tangents from (4, 10) to

the circle 2 + y? = 25.

o Watch Video Solution

18. Find the pair of tangents drawn from (0, 0)

to 2% + y? + 10z + 10y + 40 = 0.

o Watch Video Solution



https://dl.doubtnut.com/l/_yt7jQuSc1luA
https://dl.doubtnut.com/l/_25Y22JWNGL61
https://dl.doubtnut.com/l/_yPWxaceuLEHc

19. Find thhe equation of the circle which
touches z? + y* — 4z + 6y — 12 = O at

( — 1, 1) internally with a radius of 2.

° Watch Video Solution

20. Find all common tangents of the
following pairs of circles.

2?4+ y* =9 and z° + 9> — 162 +2y+49 =0

o View Text Solution



https://dl.doubtnut.com/l/_gJoDLN8IInJq
https://dl.doubtnut.com/l/_eRnQOFyWsGoS

21. Find all common tangents of the
following pairs of circles.
2?2 +y? +4x +2y—4 =0 and

e +y? —4dz —2y+4=0

o View Text Solution

22. Find the pair of tangents drawn from

(3, 2)to thecircle 2 + y* — 6z +4y — 2 =0

o Watch Video Solution



https://dl.doubtnut.com/l/_J40BFvaXRoek
https://dl.doubtnut.com/l/_IPpe5CdadQMe

23. Find the pair of tangents drawn from
(1, 3) to the circle 2* + 3* — 2z + 4y — 11 = 0

and also find the angle between them.

° Watch Video Solution

24.Find the pair of tangents form the origin
to the circle % + y? + 29z + 2fy + ¢ = 0
and hence deduce a condition for these

tangents to be perpendicular.

° Watch Video Solution



https://dl.doubtnut.com/l/_pQd7o2E7hhPd
https://dl.doubtnut.com/l/_7jbcvMtnkq7u

25. From a point on the circle
z? 4+ y* + 29z + 2fy + ¢ = 0 two tangents are
drawn to the circle % + y*2gz + 2fy + ¢

sina + (g + f*)cos’a = 0(0 < a < 7/2).

° View Text Solution



https://dl.doubtnut.com/l/_7vas2uYzrOZj

